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using Microsoft.VisualStudio.TestTools.UnitTesting;
using System;

using System.Collections.Generic;

using TestCommon;

namespace A2.Tests

{

[DeploymentItem("TestData")]
[TestClass ()]
public class GradedTests

{

[TestMethod ()]
public void SolveTest_Q1iNaiveMaxPairWise()

{
RunTest (new Q1NaiveMaxPairWise("TD1"));

}

[TestMethod (), Timeout(1500)]
public void SolveTest_Q2FastMaxPairWise()

{
RunTest (new Q2FastMaxPairWise("TD2"));

3

[TestMethod ()]
public void SolveTest_StressTest()
{

Assert.Inconclusive();

3

public static void RunTest(Processor p)

{

TestTools.RunLocalTest("A2", p.Process, p.TestDataName, p.Verifier);

3
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Naive Algorithm
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MaxPairwiseProductNaive(A[l . . . n]):
product < 0
for 7 from 1 to n:
for j from 1 to n:
if i # j:
if product < A[i] - Alj]:
product < Ali] - A[j]
return product
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using System;

using System.Collections.Generic;
using System.Ling;

using System.Text;

using System.Threading.Tasks;
using TestCommon;

namespace A2

{
public class Q1NaiveMaxPairWise : Processor
{
public QlNaiveMaxPairWise(string testDataName) : base(testDataName) { }
public override string Process(string inStr) =>
Solve(inStr.Split(new char[] { '\n', '\r', ' ' },
StringSplitOptions.RemoveEmptyEntries)
.Select(s => long.Parse(s))
.ToArray()) .ToString() ;
public virtual long Solve(long[] numbers)
{
throw new NotImplementedExceptoin();
}
}
}
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MaxPairwiseProductFast(A[l . . . n]):
inder; < 1
for ¢ from 2 to n:
if A[i] > Alindex;]:
index; < 1
indexy <+ 1
for ¢ from 2 to n:
if A[i] # Alindex,] and A[i] > Alindex,):
ndexy < 1
return Afindex;] - Alindex,)]
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using System;

using System.Collections.Generic;
using System.Ling;

using System.Text;

using System.Threading.Tasks;
using TestCommon;

namespace A2

{
public class Q2FastMaxPairWise : Processor
{
public Q2FastMaxPairWise(string testDataName) : base(testDataName) { }
public override string Process(string inStr) =>
Solve(inStr.Split(new char[] { '\n', '\r', ' '},
StringSplitOptions.RemoveEmptyEntries)
.Select(s => long.Parse(s))
.ToArray()) .ToString();
public virtual long Solve(long[] numbers)
{
throw new NotImplementedExceptoin();
}
}
}
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MaxPairwiseProductFast(A[l . . . n]):
index; < 1
for ¢ from 2 to n:
if A[i] > Alinde,]:
index; <+ 1
indery < 1
for ¢ from 2 to n:
if A[i] # Alinder;] and A[i] > Alindex,):
indexy < 1
return Afindex;] - Alindex,)]
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[TestMethod()]
1]
public void SolveTest_StressTest()

{

Assert.Inconclusive();

}
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